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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 
%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-3 ( Subsidiary-3 ) 

búˆ Yy [ S-3 : Comprehensive Economic 
Development (Britain/Japan/China) & Basics 

of Environmental Economics (SEC-6) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) Y“ÁEÀı ◊`î◊[˝Y¿[˝ %Á]„_ ◊[˝–‰ªRÙO„XÃ[˝ Y◊Ã[˝◊ÿöˆ◊Tˆ ÂEı]X 

◊ªK˜_ [˝ÓÁFÓÁ EıÃ[˝”X* ◊`î◊[˝Y¿[˝ a[˝ÔY“U] ◊[˝–‰ªRÙO„Xc˜O HªRÙO_ 
ÂEıX ? 

 (F) Â]c˜O◊L `Áa„X LÁYÁ„XÃ[˝ \…ˆ◊] [˝Ó[˝ÿöˆÁ C E ı◊bÃ[˝ 
%G–G◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* B a]Ã^ LÁYÁ„XÃ[˝ 
È[˝„V◊`Eı [˝Á◊S„LÓÃ[˝ ◊[˝[˝Ã[˝S ◊VX* 

 (G) ª%ÁW˝«◊XEı ªJÙ›„XÃ[˝ =~Ã^„XÃ[˝ Y“W˝ÁX _l˘Ó Eı› ? =~Ã^„XÃ[˝ 
LXÓ G c˜›Tˆ ◊[˝Eıî =~Ã^X ÂEıÏ`_ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ 
EıÃ[˝”X*  

 (H) Y«XGÔPˆX„^ÁGÓ a+„VÃ[˝ Âl˘‰y MSY-AÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO 
&rÙ\ˆÁ„[˝ [˝ÓÁFÓÁ EıÃ[˝”X* MSY-AÃ[˝ X›◊Tˆ◊ªRÙO ◊Eı 
%UÔÍX◊TˆEı\ˆÁ„[˝ Vl˘ a]ÁW˝ÁX ◊V„Tˆ YÁ„Ã[˝ ?  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) ◊[˝–‰ªRÙO„XÃ[˝ ◊`î◊[˝Y¿„[˝ Â_Ïc˜ ◊`„îÃ[˝ mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  
(F) Â]c˜O◊L `Áa„X LÁYÁ„X ◊[˝◊\ˆ~ [˝Ã^X ◊`„îÃ[˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  
(G) ªJÙ›„X %Á◊UÔEı C [˝ÓÁ◊·¯e Âl˘‰yÃ[˝ aeïıÁ„Ã[˝Ã[˝ ◊[˝[˝Ã[˝S 

◊VX*  
(H) AEı◊ªRÙO ◊Xf„`b„^ÁGÓ a+„VÃ[˝ a„Ü AEı◊ªRÙO aÁW˝ÁÃ[˝S 

V–„[˝ÓÃ[˝ YÁUÔEıÓ Eı› ? =VÁc˜Ã[˝S ac˜„^Á„G [˝ÓÁFÓÁ EıÃ[˝”X* 
(I¯) [˝Á◊c˜ÓEıTˆÁ a]aÓÁÃ[˝ a]ÁW˝Á„X "ÂEıÁL Tˆ√º¯◊ªRÙO' %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
(ªJÙ) =~Ã^X C VÁ◊Ã[˝‰V–ÓÃ[˝ ]„W˝Ó a+EÔı C ◊[˝„Ã[˝ÁW˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  
3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ◊[˝–‰ªRÙO„X =VÁÃ[˝X›◊Tˆ C "Â_„L ÂZıÃ^ÁÃ[˝' ◊[˝TˆEÔı ae„l˘„Y 
◊[˝[˝ Tˆ EıÃ[˝”X* 

(F) ◊[˝◊\ˆ~ %UÔÍX◊TˆEı =~Ã^„X LÁc˜O[˝Áda«Ã[˝ \…ˆ◊]EıÁÃ[˝ 
◊[˝[˝Ã[˝S ◊VX* 

(G) ªªJÙ›„X Eı◊]=„XÃ[˝ GPˆX a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(H) V…bS ◊XÃ^‹óˆ„S Eı„Ã[˝Ã[˝ \…ˆ◊]EıÁ [˝ÓÁFÓÁ EıÃ[˝”X* 
(I¯) Â_X„VX„^ÁGÓ %X«]◊Tˆ Yy EıÁ„Eı [˝„_ ? ÂEıXÁ„[˝ªJÙÁÃ[˝ 

a]Ã^ \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ %X«]◊Tˆ Yym◊_Ã[˝ Â]ÁªRÙO 
aeFÓÁ ◊Eı\ˆÁ„[˝ Y◊Ã[˝[˝◊Tˆ¤Tˆ c˜„Tˆ YÁ„Ã[˝ ? 

(ªJÙ) a+V ]…_ÓÁÃ^„XÃ[˝ Âl˘‰y }]S [˝ÓÃ^ Yà˘◊Tˆ◊ªRÙO ae„l˘„Y 
◊[˝‰`¿bS EıÃ[˝”X* 

(ªK˜) ◊XÃ[˝[˝◊¨K˜~ [˝Á [˝c˜Xl˘] =~Ã^„XÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO ae„l˘„Y 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(L) Y◊Ã[˝„[˝` V…bS aey‘Á‹ôˆ %Á‹ôˆL¤Á◊TˆEı a]aÓÁm◊_ Eı›  
Eı› ? Ac˜O a]aÓÁ a ◊rÙÃ[˝ EıÁÃ[˝Sm◊_ =‰{F EıÃ[˝”X* 
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1. Answer any two questions : 20 × 2 = 40 
(a) Explain the conditions of Britain during the 

pre-industrial revolution period. Why did 
industrial revolution happen first in  
Britain ? 

(b) Discuss the progress of land system and 
agriculture in Japan during Meiji rule. 
Describe foreign trade of Japan during that 
period.  

(c) What are the major goals of development in 
modern China ? Discuss about the 
alternative strategies adopted for 
development.   

(d) Explain clearly the concept of MSY for 
renewable resources. Can the MSY 
principle yield an economically efficient 
solution ? 

2. Answer any three questions  : 12 × 3 = 36 
(a) Discuss the importance of iron industry in 

industrial revolution of Britain. 
(b) Discuss about different weaving industries 

in Japan during Meiji rule. 
(c) Give a description of reforms of financial 

and banking sectors in China. 
(d) How is a non-renewable resource different 

from a commodity ? Explain with the help 
of examples.  

(e) Discuss the 'Coase theorem' in solving the 
problem of externalities. 

(f) Discuss the relation and contradiction 
between development and poverty.  

3. Answer any four questions  : 6 × 4 = 24 
(a) Briefly describe the liberalisation policy and 

'Laissez Faire' debate in Britain.  
(b) Describe the role of Zaibatsu in different 

economic developmental activities.  
(c) Discuss the structure of communes in 

China. 
(d) Explain the role of taxes in controlling 

pollution.  
(e) What are tradeable permits ? At the time of 

trading how can the equilibrium number of 
permits be changed ? 

(f) Briefly analyse the Trade Cost method in 
valuation of resources.  

(g) Discuss, in brief, the concept of sustainable 
development. 

(h) What are the international problems 
regarding environmental pollution ? 
Mention the causes that create this 
problem. 

    


